
 

 

.DEFENSIVE AND COMPETITIVE BIDDING LEADS AND SIGNALS 
WORLD BRIDGE FEDERATION            

CONVENTION                          
    CARD         

OVERCALLS(STYLE;RESPONSES;1/2LEVEL;REOPENING) 
OPENING LEADS STYLE 

 LEAD IN PARTNER’S SUIT 

1level: 8-16 HCP, 4+Cards often 2 level: 10-16 hcp, 5 Cds SUIT 3rd/5th 3rd/5th 

Resp: Cuebid=show opening hcp,   New suit=F1 NT 4th 4th 

  Jump Cuebid= Fit & Short & inv SUBSEQ   CATEGORX: Green 

FSJ : 5 CDs with 2 top honors OTHERS:  A for attitude K for count NEBO: Korea        EVENT: All 

 LEADS PLAYERS:  Kyunghae Sung 

INT OVERCALL(2ND/4TH LIVE;RESPONSES;REOPENING) 
LEAD VS. SUIT VS. NT 

SYSTEM SUMMARY 
A AKx(+); AK AKJx(x) 

Direct seat : 15-18HCP, system on K AKx; KQx(+) AKx(+), KQJx, KQ10x 
GENERAL APPROACH AND STYLE 

 Q QJx(+); Qx QJ10x; QJ9x; KQ109, 

JUMP OVERCALLS(STYLE;RESPONSES;UNUSUAL NT) 
J J10x(+), Jx  J108x;  Jx , KJ10xx 2/1 GF 

10 109x(+);10x 109x;  10x, Q109xx Bidding Style: aggressive 

1 Suit: Weak 9 9x;  9x 1NT=15--17HCP, BAL, m6/Siff is possible 

Unusual 2NT: LOWER  2 suits, weak or strong HI-x HxSx;  xxSx, Sx HxxSx(+); xSxxx 2/1= FG  

 LO-x HxS; xxxS; xxx HxS; HxxS, xxxS  

DIRECT AND JUMP CUE BIDS(STYLE;RESPONSES;REOPEN) 
SIGNALS IN ORDER OF PRIORITY  

  PARTNER’S LEAD DECLARER’S DISCARDING 
SPECIAL BIDS THAY MAY REQUIRE DEFENCE 

Michaels, weak or strong 

SUIT 

1 Hi=E Count(Hi/Lo=E) O/E 

Western Cue 2 Count(Hi/Lo=E) S/P  Weak jump shift 

 3 S/P ATT  Competitive cue = Limit raise or better 

VS. NT (VS. STRONG/WEAK; REOPENING; PH) 
NT 

1 Hi=E Count(Hi/Lo=E) Lavinthal System On when INT is doubled 

2 Hi/Lo=E S/P Hi/Lo=E Lebensohl after weak 2, competition over 1NT 

Vs. weak 1 NT : Multi-Landt,  X=14+HCP, penalty 3 S/P ATT  3NT gambling 

X= 14+HCP, penalty 2=4+5(5+5) majors  2=6+ major,  

2=+m, 2=+m, 2NT=55 

SIGNALS(INCLUDING TRUMPS) 1C-1D-1NT (may have 4 cards major) 

Vs. strong NT : CAPPELLETTI : any seat  1NT-x-xx (SOS) 

2=one suit, 2= both Ms, 2=+m,2=+m,5=5 2NT=55 

X : penalty 
DOUBLES 

Multi 2D : weak major 

VS. PREEMPTS(DOUBLES; CUE-BIDS; JUMPS;NT BIDS) 
2H/2S : 5M+5m 

Negative free bid : 1C-1S-2H (NF) 

DBL=T/O, thru 4H,  2NT is the same as 1NT 
TAKEOUT DOUBLE(STYLE; RESPONSES; REOPENING) 

Namyats 

Cue bidding over minor : both major, leaping Michaels  Good-Bad in Competetion 

VS. ARTIFICIAL STRONG OPENGINGS 
Can be light with Classic Shape  

Response: jump is invitational, cue bid= 1F  

(1)-DBL=， (1)-1NT= 5,  (1)-2= both majors(5-5) 
SPECIAL, ARTIFICIAL & COMPETITIVE DOUBLES/ REDOUBLES SPECIAL FORCING PASS SEQUENCES 

(1)-2 = Nat, (2+mult)-X = good  

Unusal 2NT-unusal 2NT : color Neg DBL THRU 4  

(2)-X :  Resp DBL THRU 4 
IMPORTANT NOTES THAT DON’T FIT ELSEWHERE 

  

OVER OPPONENT’S TAKEOUT DOUBLE 
Support DBL THRU 2LEVEL (4)  

RKC : 1430, Exclusive RKC : direct 5 level 
PSYCHICS: RARE 

2NT: Limit + support, XX: 10+  
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DESCRIPTION RESPONSES SUBSEQUENT AUCTION PASSED HAND BIDDING 

1  3 4  11-21HCP , 12+ If BAL 1/1/1=6+ HCP, 4+ CD 2/2/2, NF, 3/3/3=: 16-17, 2NT=18-19 Checkback 

     1NT=6-10 HCP BAL Deny MAJ, 2NT=10-11, 3NT=13-15 2=5+ CD  

     2=limit raise, 2= GF, 5+ CDs,  3: 6-9, 5 CDs 2NT=2 STOPPER in MAJ , 2/2: stopper, 

2/2stopperstopperststostopper-1,1NT=17

-19HCP,2NT=22-23HCP,  

 

     2/2=WEAK, 1C- (X)-2NT=limit raise 4 :  RKC  

     3/3/3= Splinter        

1  3 4 11-20  HCP  SAME as 1, 3=limit raise SAME as 1,  4 :  RKC Checkback 

1  5 4 11-20  HCP 1= 5+ HCP, 4+ CD, F1  2/2: REV Drury 

     1NT=6-10 HCP ,F1, 2=6-9 HCP, 3 CDs   

     2/2/= GF, 2 : 11 HCP, 6+ CD  

     2NT: 4CDs, 12+, Jacoby 3X: singleton, 3, 3NT:15-17, 4X: 2nd , 4=SO        

     3= 4 CD, 10-11 HCP, 3= 4CD, 6-9 HCP, 3= 4CD, 5↓  Reverse Bergen 

     3/4/4=SPL  FSJ 

1  5 4  SAME as 1 SAME as 1 2/2: REV Drury 

     3= 4 CD, 10-11 HCP, 3= 4CD, 6-9 HCP, 3= 4CD, 5↓  Reverse Bergen 

     4/4/4=SPL   

1NT    15-17 HCP 2 =STAY, 2/2=TRF, 2=  TRF, 2NT= TRF 1NT-(2,art)-X:points 

1NT-(2C,real)-3C:stayman 

 

 

     3/3= 6+ with 2 top honors, 4=GEBER  1NT-(2,real)-3: stayman  

     4/4=Texas TRF to 4/4 1NT-2X-X: 8-9 HCP,, 1NT-2X-3X: 10+  

     4NT=Quantitative, 5NT=GSF 1NT-2X-2NT: Lebensohl  

2 Y 0 4 21+ HCP, or unbalanced 9 tricks 2=Wait(include 2NT value ) 2-2-2-2NT : 25+ Kokishy relay 

     2/2/3/3=5+ CD with 2 top honors 2-2-2-3 :  suit,  2-2-2-3X: 2 suits  

     2-2NT : 22-24 2-2-2NT-3:  suit, 2-2-2NT-3x : 2 suits  

2 Y   Weak 2/2 2: Pass or correct, 2: Pass or 3, 2NT:inquire 3: Max with , 3: Max with   

2  5  5+5m 2NT: ask minor,  3:Fit&show singleton(void) 2-2NT-3/3 : pass or correct  

  5   2-3-3: , 2-3-3: , 2-3-3:  singleton 2-3-4:, 2-3-4:, 2-3-4:  void  

2  5  5+5m 2NT: ask minor,  3:Fit&show singleton(void) Similar with 2  

2NT    20-21HCP,BAL Puppet, Smolen, Transfer   

3///  6  5-10HCP，/// 6+ New suit forcing 
HIGH LEVEL BIDDING 

3NT    One solid minor 3NT-<X>-4 : pass or correct 

 *    4NT=RKCB RKCB 1430, Blackwood Gerber, Cue，5NT GSF, Exculsion Blackwood 

4/  7  Namyats 4/ - 4/ = to play; 4/ - 4/ = Slam try; 4NT=RKC D0P1                                                 0314 

4/  7  7 playing tricks, NV, 8 tricks V 4NT=RKCB  

4NT *   Specific Ace asking 5=w/o A, 5/5/5=A in //, 5NT=A withK,6=A in C  

 


